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0 2AXB—= X xY 7}%

a =X {a1{al(a,b) € X}, az2{b|{(a,b) € X})
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[e] € A=2%

[e] € A

F=2] o] )% (denotational semantics) 2~EFL &

[:] = {z} [z] = ofz}

[erea] = [er]+[ea] lertea] = [er]+[ea]
[-e] = [ [-e] = “[
atb = {z+ylz€a,yecb} atb = 7
~a = {-x|z€a} ~a = 7
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o [e]¢] A9 1

[e] € 259, S=Ep
le] = fixAT{e}u{t—e"|teT Nt=---—¢€ AN =€}
where T T Ty iff Vtq1 € T1. 3ty € Toto =11 — - --

o [e]¥] 9 2:

[e] € S* S=2F
le] = fixxt{e}U(t — X)
where X ={e" |[t=---—>FE Ne e€E Neée —€}
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e — -+ | ifeee

[[if €1 eo 63]] = if [[61]] [[62]] [[63]]

[if e1 e2 es] = if [ex] [ea] [es]
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e — --- | readin

[readin] = read
[[reaAdin]] = read
read = 7
read = T
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